Meteors and Moons: Below are worded problems including the 3 and 2 times tables. On your own or with an adult: read through each question carefully and decide what operation is required. You must show how you have worked out the answer, whether it be pictorially, or numerically. 
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Remember Your RUCSAC

1 can solve word problems

Remember to check your work carefully using the RUCSAC checkist

Word Problem Number Sentence

How many legs would b spiders have altogether?

“The coach spits the group of 24 children into 8 equal teams. Each team needs a football between 3
chidren. How many footballs does each tearm need?

How many 30p chews can I buy for £1.202 Wil I have any money left over?

Tbuy cartons of apple juice in packs of 4. There are 42 guests coming to my party. How many packs
do I need to buy? Will there be any lft over?

Carolyn and Mike own a cattery. There are currently 4 cats staying with them. If each cat eats 3 bowls
of food a day, How much food wil they need to last 3 days?

Lucy sels hai ribbors in 30cm lengths. How many ribbons can she make from a 1m rollof ribbon?
‘Will there be any ribbon left over?

How many legs would 13 dogs have ditogether?

There are 36 children in my class. Id like o take some lolipops in for them because i i my birthday
1folipops come in packs of 4, how many packs will need to buy?

How many 300m glasses of lemonade wilI get out of a 1000ml bottle?

1f share my 24 stickers fairly with my 3 friends, how many will we get each?

Choose 1 fact from each of the 35, 45 and 8s mukiplication tables and wrie @ word problem to go with each one. Try to make your problem s interesting as you can.




There are 5 biscuits in a packet. Jane buys 3 packets for her party. How many biscuits does she have?   ________________
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2. There are 4 fireworks in a box. Sam has 3 boxes. How many fireworks does he have altogether?  __________________
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3.  Ben wants to buy 2 lollies for each of his 6 friends.
 How many lollies will he need to buy?           ____________                                                            
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4.  Lucy has 6 CDs in each rack. She has 3 racks. How many CDs has she altogether?  ______________
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5.  3 children have completed their sticker card. Each card holds 7 stickers. How many stickers has the teacher given out. ___________
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6. Sally gives out 10 party bags at the end of her party. Inside each party bag are 3 balloons.    How many balloons does Sally give out? __________ 
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7.  Ben collects Superman comics. When he counts them he realises he has 12.
Each comic has 3 surprises in it. How many surprises did Ben collect? _________

8.  Caitlin buys 3 pairs of gloves costing £3 each. How much does she spend? ________________
Comets: 
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